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                                                           Answer the questions:-

Answer Question 1:   
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************************************************************************

Answer Question 2:   

the truth table for the Boolean expression
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The logic-symbol diagram
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**************************************************************************

Answer Question 3: (a) FLOWCHART
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البرنامج  المناظر هو:                          
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  REM  This program compute the real roots of  quadratic eq.                                                  [image: image45.png]20 INPUT a,b,c
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 RINT  " The equation is not quadratic"                    
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  (b)-  Transform the following program into the equivalent Flowchart

                 
***************************************************************************

Answer Question 4:  
             10  LET  S=0

             15  INPUT  N     

             20 FOR I=1  TO N 

             30 LET S=S+I

             40  NEXT  I

             50  PRINT  S

             60  END
انتهت الاجابة
start
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